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AV —b7Ya—L  1100%900%1.6 kg 1384 127.7m X 49.96kg

it kg 1384
BREHEKE ¢ 150 kg 33 [27.1mx 1.21kg

B kg 33




T T -EWmELI

it EE

£ i1 iR 1% g = BAr 3 & &t

[T &Et)

[EE L+ T&E)

IR i 29.5 m3 295

K iE 8 IF 422 m2 422

%+ 4 5 295 m3 295

[#BEYEEL TEE)

avyy—b+ B 5.3 m3 5.3
;i (Ee 0.44 m3 0.4
&t m3 5.7
# 5 (BRhR) 0.48 m3 05

A E A& =200 6+8.4 m2 14.4

abh —k7Y1—4 | BF2 1100%900 KEBIGEZSHE(BRER=HBZER) m 27.7

BE E & 0150 27.1 m 271




T T il = &t g i
i B Efi:m3l KO Ef:om3| R IE B E EM:m2
#oo= 1
MIWE FTH OME | HE FH OKE | HED FH HKE
No. 4 + 6.11 1.1 1.6
No. 5 13.9 1.1 1.10 15.3 16 160 222
No. 5 + 225 2.3 1.1 1.10 25 16 1.60 3.7|IP.7
NGt 16.2 17.8 25.9
N. 5 + 275 1.1 1.6
No. 5 +1293 102 12 115 11.7 16 160 16.3|IP.8’
INET 10.2 11.7 16.3
A% 26.4 29.5 422




N

7

b H

® L

it %

BB BE [2V9U-FERIEEL B4 m3
B o= =
M IWE FTH BE | BE FH HE | HED FH =3
IhEt 0.0 0.0
No. 4 + 6.11 0.2
No. 5 13.9 02 020 2.8
No. 5 + 225 2.3 02 020 05 P.7
INEE 16.2 33
No. 5 + 275 0.2
No. 5 +1293 102 02 020 20 IP.g’
INEE 10.2 20
A&t 26.4 5.3




R R B & L & & 2 Bify : &

% W i B P =
PRIREREEL No.4+134F3iT, No.5+84F3f 2.0

No. 4+13fFt3a. No. b+8ftik

TEEH B X
1 600 700
200 1 200 20( 150 550
I
‘ |
8 \ | 8
z ‘ \ z
‘ \
|
X BETEFHEETHD,
£ 5 - g = B/ E & &t
No.4+134F3iT, No.5+84F3a
73 hiR 5.1 (1.60%1.00%0.15)*2 m3 0.48

B = ®5 (0.55%1.00%0.20%2)*2 m3 0.44




EE & MEL(HF) #E t 8 &
. BB Bt | AfEAEIERL B m2 0 Bifif : m3 0 Bifif : m3
Al o= i E
"lwE ¥ HE|FE FTH O HE | WE FTH HE
No. 4 +149 0.9
No. 5 5.1 0.9 0.90 46 0.00 0.0 0.00 0.0
No. 5 + 22 22 0.4 0.65 14 0.00 0.0 0.00 0.0(IP.7
INEE 7.3 6.0 0.0 0.0
&t 7.3 6.0 0.0 0.0




FEE R EBEL(EF) B E Gt &EE
BB | EHEAIREL B m 0 BfI - m3 0 BfI - m3
B = =

MIWE FTH OME | HE FH OKE | HED FH HKE

No. 4 + 56 0.6 IP.6’
No. 4 +130 74 06 060 4.4 0.00 0.0 0.00 0.0
INET 1.4 44 0.0 0.0

No. 4 +14.0 0.5

No. 5 6.0 0.5 0.50 3.0 0.00 0.0 0.00 0.0

N. 5 + 22 2.2 04 045 1.0 0.00 0.0 0.00 0.0|IP.7
INET 8.2 40 0.0 0.0
=1 15.6 8.4 0.0 0.0




HEK S TR R E

4 BB Al R H B i 2
ISHBE (#R)
NO. 4 581 ~ NO. 5 + 2.25 16. 44 SL=16.78
NO. 5 2.44 ~ NO. 5 + 12.93 10. 49 SL=10.95
A F 26.93 m | SL=27.73 m




1 5 BH BB £ I i & £ B :m
% W {2 B E R HE
1SHBET ERFAESE
JKFERERE L= 269 m
#PEEE SL= 277 m
500 1100 500
_$’_§ED?] »yU—tk 209
E7A SFiE
s -
! = o
! NS —bT ) a—LBH 1100 x900
o = _ t=2.0
g 2\ | ,1 2 F 0.3 n? (48
= m\ miﬁo g ®A RC-40
= T 1 ZaLE—%
V:I? ll ‘rmxl ! H&E RC_40
X??ﬁ%ﬁ‘fﬁ%ﬁﬁ TEERE. i FERE ¢ 150
EK— k2000 BEUBE LBhIE#H
1600
£ g1 iR 1% g = B /N E & F
1ESHHBET HKEEYT
(1.o0xXH=Y)
A —hIYa—L | BE: 1100x900t=20 = 1.00%27.7 m 27.70 27.7
B B £ ® 150 1.00%(27.7-2%0.30) m 27.10 27.1
% 4 LA LE 44 0.471%(27.7-2%0.30) m2 12.76 12.8
T4IL3—% RC-40 0.48%(27.7-2%0.30) m3 13.01 13.0
wKS — b 2000 2.00%(27.7-2%0.30) m2 54.20 54.2
# E L RC-40 0.66%*(27.7-2%0.30) m3 17.89 17.9
(1.0m%H7=Y)
A —bIYa—L | Bx 1100x900t=20 = 1.00 m 1.00
B E & ® 150 1.00 m 1.00
0% i LA LE 44 0.15% 7t %1.00 m2 0.47
J4IL3—% RC-40 (1/2%(1.60+1.60+0.30%0.4)*x0.30-0.018)*1.00 m3 0.48
wKS — b 2000 2.00%1.00 m2 2.00
# E L RC-40 0.33%2%1.00 m3 0.66




Yiga 7 U — NI EFEE

2SI il i =
ABREL
a7
NO. + 5.8 NO. 4 14.9 9.
NO. + 2.4 NO. 5 12.9 10.
aAIEE 19.
EF
NO. + 13.0 NO. 4 14.0 1.
NO. + 2.4 NO. 5 12.9 10.
ERIEE 11.
A F 31.




Yiga 7 U — NI EFEE

2SI il A iy i =
aEAY
a7
NO. 4 + 149 ~ NO. 5 + 2.2 7.3
E=1: U= 7.3 m
EF
NO. 4 + 58 ~ NO. 4 + 13.0 7.2
NO. 4 + 140 ~ NO. 5 + 2.2 8.2
ERIEE 15.4 m
& 3 22.7 m




TRV —F+ E OHE OE BT o m
R {2 B E K HE
RO —k ERFAESE
AREHE 31.1 m 31.1
A E 22.7 m 22.7
A&t 53.8
500 500
>
|_/ S I o
1 = | SE -
e A
FERAI U=k /| ‘ 420 |
\ ‘ / FEaALHY—k
\ | !
£ g1 iR 1% g = Bz /N E & E
FERIALY)—F FERIAVY)—F
1.0zt K1)
OV —bk  ock=18N/mm2  0.10%31.1+0.092%22.7 m3 5.20 5.2
i ¥ —f% /E 0.30%31.1+0.10%22.7 m2 11.60 11.6
B # # ssssg=eon 52/10.00 m2 0.52 0.5
AEEL (1.0m%7=Y)
OV S —bk  ock=18N/mm2  0.2%0.50%1.00 m3 0.100
it ¥ —#% /E (0.20+0.10)%1.00 m2 0.30
VaYit-D, (1.0m&7=1)
a1 —bk  ook=18N/mm2  1/2%(0.50+0.42)%0.20%1.00 m3 0.092
i B —f2 pE O 0.10%1.00 m2 0.10




B M K R I & H E By &
£ W fiz HE
BRERT No.4+13{F3f . No.5+81F 3 2.0
fAmE B 3
i S S e 1 i
"'l J /L{ JJJ S —
\ 7
(e /
| any—1oy a—LB% AT — kT 21— LB
FEE SEHMIE
| H—
} | LE w
| HEEs R
£ FR % g =X Bfr /N § & §
BFHRKART RAiRT
(1.0EHT-Y)
PRARE
AV S —k | ock=24N/mm2  1.00%2.30%0.15 m3 0.345
i B —fg B (2.30+1.00)%2%0.15 m2 0.99
" IR 1.50%1.00 m2 1.50
% £  SD345D13  (2.18%6+0.88%12)%0.998 kg 236
X &R I NTHE-b | 1.44%1.00 ZEm3 1.44
Be
AV 51—k ock=18N/mm2 | 0.40%0.50%1.00%2 m3 0.400
il B —#% B (0.40%0.50%2+1.00%0.50%2)%2 m2 2.80
H B ¥  RC-40t=200  0.60%1.00%2 m2 1.20
K i 2 0.60%1.00%2 m2 1.2




w0 A LR

2SI il AR % = i =
FHR
aF
NO. 4 + 1490 ~ NO. 5 * 2.24 7.39
17.74
11.48
BRIEE 7.39
EF
NO. 4 + 561 ~ NO. 4 * 13.00 7.39
NO. 4 + 1400 ~ NO. 5 * 2.24 8.29
ERIEE 15. 68
& it 23.07




w A ¥ I 3 - N - BfHIm
R {2 B m HE
BAEEI i 739 m 7.4
)= 15.68 m 15.7
=5 231 m 23.1
500
or300 200
FiRa o )—
o
N,
ANEF—RTYa—L '
\ / F:H RC-40
/
|
{
£ g1 g = Bz /N E & E
BEHBEI BREL
(1.0 1Y)
BAEEH 7.4+15.7 m2 23.10 23.1
(BE + £8)




# A B (A ) #® 2 & 8B &
BERE| B A FE OHEM:m
B = wm =
THE Y OKE|(HWED FH KE | HE FY =1
No. 4 +14.90 0.00
No. 4 +15.60 0.68 1.68 0.840 0.57
No. 5 447 1.13 1.405 6.28
No. 5 + 224 2.24 0.64 0.885 1.98 IP.7
INET 7.39 8.83
=1 7.39 8.83




# 2 B (B F ) #® 2 & B &
EERE| B B OB OBEM:m
A= mE
MIWE FTH BE | BE FH HE | HED FH =3
No. 4 + 561 0.86 IP.6’
No. 4 +1300 734 079 0825 6.06
INEE 7.34 6.06
No. 4 +14.00 0.57
No. 5 605 076 0.665 4.02
No. 5 + 224 224 062 0690 155 P.7
INEE 8.29 5.57
A&t 15.63 11.63




% T Hi g = B m
R {2 B m HE
E/L—I IP.6 £ ~ No.IP.8 i 375
&&t 375
£ g1 iR 1% g = B /) E =
E/L— L m 375 38




